0]

Ml

HizE ds=H

# 2SN BB (AE SWMA2)
prob_real = round(1/6, 2)

prob_real

# AEH S
iterations <- c(100, 1000, 10000)

=
=2

o

# &EA
prob_expt <- NULL

g

# iterations <- c(100, 1000, 10000) 2 Al RAAUS=Z

# AY g AE
for(iteration in iterations) {
BHE (BF=3|4 3 )*x
sum <- @
for(x in 71:iteration) {
dice <- sample(1:6, 2, replace=T)
if (dice[1] == dice[2])
= sum + 1
# prob_expt =

sum

=
=

b

Jhon

=

1
o

#

prob_expt <- c(prob_expt, round(sum / iteration, 2))
Ml Az PHE #H.

}

# =
iterations

prob_expt

# Xt
abs(prob_real - prob_expt)

Aot
> iterations

## [1] 100 1000 10000

> prob_expt

## [1] 0.14 .16 0.16

> abs(prob_real - prob_expt)

## [1] 0.83 0.01 0.01
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